Progress test 11 Units 21 and 22

Choose the correct answer, A, B or C.
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All three cellists in the ............ had worked in Berlin at some point in their careers.
A gig B orchestra C choir

Traffic ............ is a major problem in most of the world’s cities.

A congestion B construction C collection
............... being tired after their long flight, the band played brilliantly.

A Although B Despite C While

The ............ of a historic building can cost millions of pounds every year.

A uptake B upside C upkeep

If | hadn’t decided to go to that concert, we ............ met.

A wouldn’t have B can’t have C won’t have
Many people prefer to drive to work ............ their journey takes longer.

A evenif B in spite of C evenso
Several members of other bands came back on stage to ............ in with the final song.
A add B join C mix

The building is 18 ............ high and has fantastic views of the city.

A levels B flights C storeys

We organised a concert ............ to raise money for the college.

A inorder B because of C eventhough
Traffic pollution is having a serious ............ on many buildings in the city.

A contact B impact C routine

If we ..ocee. before the end of the concert, we would be home now.

A left B had left C leave

The TransMilenio is a rapid bus ............ in Bogota, Colombia, that currently has eleven lines.
A project B method C system

Béla Bartok was a Hungarian ............ who based a lot of his pieces on folk music.
A composer B author C editor
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14 | wish you would ............ your decision — the festival needs your organisational skills.

A rewrite B reconsider C replace
15 Acover............ is a recording of a song that has already been recorded by someone else.
A copy B model C version
16 Thenew ........... centre provides language classes and legal advice for residents.
A shopping B community C arts
17 lliketo ............ for bargains in second-hand shops.
A chase B try C hunt
18 Property ............ has dropped recently due to the worldwide recession.
A value B worth C rate
19 The famous opera singer Cecilia Bartoli has ............ all over the world.
A played B presented C performed
20 She’s got a very good sense of ............ , SO she’s a fantastic dancer.
A rhythm B tune C beat
21 Are there any good restaurants in your ............ ?
A place B neighbourhood C environment
22 If | go abroad to study, I'll be on a very ............ budget.
A tight B fast C  stiff
23 After Anna sang her solo, the entire theatre ............ got to their feet and clapped.
A army B crowd C audience
24 If the weather conditions hadn’t improved, there would be food ........... now.
A absences B failures C shortages
25 Crime............ have come down significantly since the city centre was regenerated.
A degrees B rates C sums
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